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QUESTION 1

How can you configure a currency conversion measure in a New Model?
A. Hard code a Category

B. Dynamically determine a unit type

C. Hard code a unit type

Correct Answer: A

QUESTION 2
What node types can be imported from S/4HANA? Note: There are 3 correct answers to this question.
A.H

B.L

E.T

Correct Answer: BCD

QUESTION 3

You have a planning model with the following dimensions: Cost Center, Account, Date, Version. When you add new
transactional data to your model, you want to add new data for cost center A and remove any records for cost center B.
Which import method do you use?

A. Update

B. Append

C. Clean and replace selected version data

Correct Answer: C

QUESTION 4

Your account dimension has an account for Profit that is calculated as [Revenue] - [Cost]. Which formula can you use to
enter a value for Profit and have the system re-calculate Cost while Revenue remains constant?

A. [Revenue] - [Cost] := INVERSE ([Cost] = [Revenue] - [Profit])
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B. [Revenue] - [Cost] | INVERSE ([Cost]: = [Revenue] -[Profit])
C. [Revenue] - [Cost] | INVERSE ([Cost] = [Revenue] -[Profit])

Correct Answer: B

QUESTION 5

You are planning with two hierarchies that have different granularity. Your model contains no data. The story has two
pages: a parent planning page and a member planning page (see screenshot). In the

Member Planning page you enter the following data: Brazil 100 Chile 100 Peru 100. In the Parent Planning page you
enter the following data: North America 10000 South America 30000. When you go back to the Member Planning page,
what will you see? Note: There are 2 correct answers to this question.

A. North America 10000. US 5000. Canada 5000

B. South America 30300. Brazil 10100. Chile 10100. Peru 10100

C. South America 30300. Brazil 100. Chile 100. Peru 100

D. North America 10000. US 0. Canada 0

Correct Answer:. AB
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